HRASHIET R =2 — T —

PRI REER OB MOE
20214E10 H 4y N
PR B 52 Ll (FIBL)
A 5] B BT HAL P
20214E 10 4y (2 BLZ10%) | 2021429 A 45 (G EBi==10%) BTl 20072
K =E 1388 -326% 4588
o E 126% -3148 438%
I 1268 -304% 4288

(T&%E . WHE T BIREME R RO )
20214E10 H 45> DR FHEE BT 122021455 H ~20214E7 H O R BREMIR I L0 B SV E T,
SER RIS

20214E5  ~20214-7 H JER AR 1k1dH 720 25,500  (A)
[EESTLEEEWN)
X 4 B S B A WA A R
SERE TR AR 1kl 7= 47,569 M 0.2410 11,464
SE A PR ARG 1t H7=0 12,4601 1.1282 14,057H
A YEREHIRE RO R
FLYERREH S (B) FLHEE M (C)
K B 31.60%%
25,1001 = ES 30.508%
el 29.90%%

BRI RS S B HERR B 4525, 100 & _EEl>7- 55

PRI | = CTAREHEHS ()-SR () x 2 (C)

SOEBREMITAS (A) 2337,700H 28k 2 728551337, 700 2 R & L £,
B AR DS B HERR BT 4525, 100 2 T El-> 7255

IR | = (LRI (B) Tt (2)) x 2T (C)

B RBEFEBEMOBAI, 18:EL., Z0WMEIX., MR THEIMN CHBEALET,




